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Choose the correct answer from the following: I1X20=20

1. In the reaction, A + C ——— B + D + heat,
a. ‘A + C isan endergonic reaction and b, ‘A + C’ is an exergonic reaction and “B

‘B + C + heal’ is an exergonic reaclion + C + heat” is an endergonic reaction
¢. Both are exergonic reactions d. Both are endergonic reactions
2. The greatest quantitative source of phosphate in aerobic organisms comes from:
a. Oxidative phosphorylation b. Glycolysis
¢. Citric acid cycle d. None of the above

3. The substrate concentration at which ¥z Vmax is achieved is called as:

d. K‘.n b. Km
. Vo d. None of the above
4. The enzyme involved in conversion of ribulose - 5- phosphate to ribose - 5 - phosphate is:
a. Ribulose-5 phosphate isomerase b. Ribulose-5-phosphate epimerase
¢. Transaldolase d. Transketolase
5. Catabolic pathways are:
a. Divergent b. Convergent
c. Cyclic d. Non-cyclic

6. Bipolar cell and ganglion cells are:

a. Neurons of visual pathway b. Photosensitive cell
c. Light absorbing cells d. None of the above
7.  Which organs are connected by Limb leads of ECG?
a. Rightarm, left arm, left leg b. Rightarm, left arm, right leg,
¢. Rightarm, right leg, left leg d. Leftarm, right leg, left leg
8. A person may suffer from nitrogen necrosis:
a. At high altitude b. In deep sea
¢. During birth d. During exercise

9. What is largely responsible for the negative resting membrane potential (around -70

mV) in a neuron?
a. Axonal insulation by Schwann cells b. Voltage-gated sodium channels opening
c. Action potential d. Potassium leak currents
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